Equal 9 step grey scaling betweeAL*: 18.0 96.0 and\L*: 14.4 125.1, normalisation: whité//

L*0an=18.0,L*0au=57.0,L*0an=96.0, Yoan=2.5, Yoau=24.9, Yoaw=90.0,Coay=Yoaw: Yoan=35.7
L*1an=14.4,L%155769.7,L%1a07125.1,Y1 a0 1.8, Y12740.4, Y1 210=180.0,C1 av=Y1 2w Y1an=100.0
L*

1000 n0.i L*0a L*Or YOa YOr :L*la L*1r Yla Y1lr Y1rY1.12 (yin)lli2yor
(D9 90 10 90 10: 1251 10 1800 1.0 1,000 0,000
8 862 0.875 685 0754 111.3 0.875 132.0 0731 0,756 -0,002
457 765 075 507 0551 97.4 075 935 0514 0553 -0,002
6 667 0625 363 0385 83.6 0625 633 0345 0,386 -0,000
5 570 05 249 0256 697 05 404 0217 0255 0,001
50T @+ 472 0375 162 0156 559 0375 238 0124 0,155 0,001
@3 375 025 98 0083 421 025 125 006 0,081 0,002
@:2 277 0125 54 0.032 282 0125 55 0021 0,032 0,000
25+ !
1 180 00 25 00! 144 00 18 00 0,000 -0,000
semiglossy: 1ISO 9241-306 : extrapolated surface colours
range: 2,5 <Y <= 90 ! range: 1,8 <Y <= 180 2=0,0001
ol ALa=9.7 (i=1,2,...,9)  AL*;=13.8  (i=1,2,...,9)
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